Assiut nwersity Faculty of Education January, 2016

Faculty of Arts Basic Education Time: 2 Hours

Department of English ~ History of the English Language  Second Year

Answer All the Questions:

I- Complete the following Sentences with the Correct Answers:

(40 marks: 4 marks each)

1- When a language ...........coeereneennneenenne t0 change, we call it a dead language.

a) continues b)ceases c) strives

2- English is classified as @ .......c.cocererrarerennnnnn. l@anguage.

a) Romance b) Celtic c) Germanic

3- English enjoys an exceptional advantage in having adopted .................... gender.
a) grammatical b) mixed c) natural

4- Northwest of India and covering the great plateau of Iran is the important group
of languages called ...

a) Indian b) Iranian c) Armenian

5- The earliest great literary monuments of Greek are the Homeric poems the lliad

and the Odyssey believed to date from the .................. century B.C.

a) eighth b) ninth c) tenth

6- West Slavic includes four languages. Of these ........................ is the largest.

a) Polish b) Russian c) Slovene

7- The steady retreat of .........c.c.cvcereevevennee. IS ONE Of the surprising phenomena of
history. a) Gothic b) Italic c) Celtic

8- The vocabulary of Old English is almost purely ......cccovivvencnneees

a) ltalic b) Germanic c) Romanic
9- Old English developed unusual .............cc......... In utilizing its means to the full.
a) resourcefulness b) helplessness c) limitedness

See Second Page




10- An examination of the words in an Old English dictionary shows that about
s percent of them are no longer in use.

a) 50 b) 15 ¢) 85

Il- Write on Two only of the Following: (40 marks: 20 marks each)
1- The three periods in the History of English

2- Circumstances Promoting the continued Use of French

3- French Influence on English legal Vocabulary

Main Examiners: Dr Manal M. Abdel Nasser & Prof Hassan A. H. Gadalla



Writing (2) EZ213
Second Grade

Date: 17/1/2016
Time Allowed: 3hrs
Total Marks: 120

(Basic Section) A

[-Choose only one essay to write: (40 Marks)
i- A narrative essay on a time when you rebelled against your parents
2- A compare essay on two places you have visited
I1- Mark the following as True or False: (10x2= 20 Marks)
1. Brainstorming is one of the prewriting techniques. ¢ Ui )
2. Narrative is a term known as ‘story’. ( vaes)
3. You should use vague words in your essay. (- )
4. Connotation means the literal meaning of the word. T —— )
5. Nouns and verbs must agree in number. ( case)
6. It is better to use passive voice than active in your essay. o )
7. Proper punctuation is necessary. s )
8. A contrast essay notes either similarities, or similarities and differences. {ivrs )
9. Run- on sentences are wrong. (il )
10. Connotations involve emotions, cultural assumptions, and suggestions that can be positive only.
[II- Choose the correct answer: (10x2= 20 Marks)

1.

o o R W

All of you can go to the club (except- accept) Mary.

I don’t need your (advise- advice).

Have they (ascent- assented) to the terms of the contract?
Jack needs your (corporation- cooperation) to succeed.
Janet is not ready for (dessert- desert) yet.

Sliver and gold are precious (medals- metals).

The (weather- whether) is so cold. Turn to page Two
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8. [ (feel bad- feel badly) because I have a stomach ache.
9. You should help the (homeless- vagrant) as the government is not sheltering them.

10. Would you like to go to the movies? I'm (not interested- disinterested).

[V- Identify the one underlined word or phrase that is incorrect:
(10x2=20 Marks)

1. Everyone want a copy of that paragraph.

2. Here is your books and your papers.

3. Cobras use his poison in two ways.

4. Petra swum that distance twice la-st week.

5. The coach, along with the players, protest the decision.

6. Either the Garcia boys or their father go to the hospital each day.
7. Francis Bacon said that reading made a full man.

8. Before a person can leave this camp, he must get permission from the director.

9. The boy from germany is absent.

10. Whose the leader now in school?

V- Indicate the kind of sentence by writing the appropriate letters in the
blank: S simple, CP compound, CX complex, CC compound-complex

(5x2= 10 Marks)

1. The lake looks beautiful in the moonlight. .............c.cociiiiniiiiinnnes

2. My father, mother, and sister came to the school play, applauded the performers, and attended the
party: Aferwands. e R

3. Because Mr. Ahmad was a talented teacher, he was voted teacher of the year, and his students
PIOSDETEA. i ivuisiianmvaiunnannmaini nraviasssssdsvensssimin

4. If you wish to see him, you must make an appointment date weeks in AVANCE. .iovmcisisnsmnrnssans

5. You must be there early in the morning, or you will lose the job to someone else..........ccooeeenre
Turn to Page Three
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VI- Punctuate the following: (5%2= 10 Marks)
1. That melon looks fresh but it costs too much.

2. I did not recommend that novel to Judy she discovered it herself.

3. ‘Have you finished your homework Ali?

4, She said to him, I am sorry that [ was late yesterday.

5. Walking along Piccadilly in London, I ran into my friend Moustafa

Good Luck &
Main Examiners: Dr. Abeer M. Raafat Khalaf
Dr. Lobna Shaddad
I- Answer of the Essay
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Assiut University Faculty of Education January 2016

Faculty of Arts English Section Time: 90 minutes
Department of English First Semester - Final Exam Total Score: 80 Marks

Students: Second Year-Basic Education
Subject: 18" Century English Novel (E216)
Date:3-1- 2016

I- Decide which of these sentences are true and which are false: (10x2=20 marks)

1-The 18™ century novel was labeled as realistic novel.

2-The novel rises in the 18" century stimulated by the decline of science.

3-Gulliver's Travels was intended to be a bitter satire of the English society during Swift’s life.
4- Laurence Sterne was the first English novelist to introduce the burlesque element in the
novel.

5-During his adventures, Robinson Crusoe discovers not only the world, but also the
importance of religion.

6- Robinson Crusoe was first published in 1718.

7- Robinson Crusoe is portrayed as being a person who is incapable of deep feelings.

8- Anti-Pamelists maintained that she was poor and simple girl who tried to keep herself chaste.
9- Joseph Andrews mirrors the lifestyle, caste system, hypocrisy and corruption of the 18"
century England.

10- The narrator of Joseph Andrews is Parson Abraham Adams.

I1-Discuss briefly only THREE of the following: (3x20=60 marks)

1- The causes which brought to the development of the novel during the 18" century.
2- Two situations to prove that Robinson Crusoe has considerable survival instincts.
3- Robinson Crusoe goes to the sea in search of high adventure.

4- The similarities between Parson Adams and Joseph Andrews.

Best Wishes —----- Dr. Lobna shaddad - br. Sa idﬂd Abdel Ha Y
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Assiut University English Phonology & Listening (2) Time: 3 Hours
Faculty of Arts First Term 2015 - 2016
Department of English Basic Education Students, Second Year
A) Phonology

I. Mark the following as true or false (20 Marks)
1. Phonetics does not have an astonishing effect on bringing people together.

2. We are able to segment throat-clearing into sounds of speech.

3. The word fext includes four sounds.

4. The letters ae in the word Caesar is represented by the vowel /iz/. °,

5. There are syllables without nucleus.

6. Stress can change the word category.

7. Orthography represents the sounds of English in a consistent way.

8. Some letters have no sounds in certain words.

9. Sounds are voiceless when the vocal cords are together.

10. The airstream is completely blocked when we produce stops.

11. The science of phonology is language-general.

12. Affricates are not continuants.

13. In the word say there is a glide.

14. Flap sounds like a very fast d.

15. /u:/ is a high front vowel.

16. The minimal syllable is a single vowel in isolation.

17. The hard palate comes behind the soft palate.

18. The first syllable in the word apartment is stressed.

19. [t] and [f] are approximants.

20. In unaspirated stops, there are extra puffing of air.

I1. Fill in the blanks (10 Marks)
1. The vowel becomes ........ccccvveiinunnns when it is followed by nasal sound

2. In the word wooden there a lateral ....................

3. In the word sofa, the week vowel is called .............ocoeeiennns

4. There are two types of cavities. oral cavity and .................. cavity.

5. The vowels are divided into tenseand ..................... vowels.

6. Consonantal sounds produced by raising the tongue blade are called ...coovvivviiiniennnn
7. The sounds produced with hissing are called ................ooeees

8. The first component of a syllable structure is called .....oonvmmeusvisniiasiniis

9. The strongest type of stress is called .............oocooveiiiiine stress.

10. The small circle under the letter indicates that the sound is .............ooeene

IV. Transcribe the following words and add the primary stress (10 Marks)
1. comfort / : /  2.amazing / /

3. glorify / / 4. suitcase / /

5. five-finger / /

V1. Write a short note on Elision (5 Marks

ConTinued



B) Listening

I. Mark the following as true or false (25 Marks)
1. Listening is the ability to receive and interprel messages.

2. Listening and listening comprehension are synonymous.

3. Listening is a passive process.

4. Listening includes only psychological nature.

5. Listening does not require focus.

6. Hearing has been developed to cover different life activities.

7. Emotional impact of certain words during listening is not important.

8. One of the goals of hearing is understanding.

9. Listening means paying attention to the story. not how it is told.

10.
i
12.
13.
14,
13:
16.
17.
18.
19.
200,
21.
i
25
24,
25

Conscious attention is a pre-requisite of hearing.

Our brains have to work harder to process the information that we listen to.
Repeating what has been said on the part of the speaker is not important in listening.
During listening be flexible in notetaking. '

Body language does not add information during listening.

Becoming habitual of listening is one principle of listening skill.

Judging the delivery is more important than judging the content.

Responding is the last stage in listening.

Feeling unwell is a cultural barrier in listening.

Previous background knowledge is not important in listening.

Elision does not cause difficulty for students of listening.

The inconsistencies between verbal and non-verbal messages are vital in listening.
Your preconceived ideas can interfere with understanding the message in listening.
Overheated rooms can affect listeners in a bad way.

People with close minded attitude are poor listeners.

The barrier of accent is a physical barrier.

II. Write short notes on (30 Marks)
|. Top-down process in listening.

2.
3.

Problems and solutions of physical setting in listening.
Listening micro-skills.

Best Wishes
Dr. Mohamed Abdelmageed
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First Semester Final Exam (January 2016)

Answer the following gquestions:

Of the following, decide which is true and which is false: (24 marks)
Faustus is an ordinary man.

Antonio was in bad need of money to court Portia.

Antonio used to berate shylock for his usury.

Faustus was known for his brilliance in theological matterss

The good angel repeatedly asks Faustus to repent.

Shylock's major interest is to help poor people.
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[1. Choose the correct answer: (24 marks)
|. Faustus loves magic ..............
a. more than theology b. more than logic c.aand b

b

. Wagner is the servantof ..............
a. Mephistopheles b. Lucifer ¢. Faustus

3. The will of Portia's father stipulates that she must marry the man ..............
a. she loves b. who is rich c. who chooses the right casket

4. The prince of Arragon studies the caskets carefully and finally chooses ..............
a. the silver one b. the gold one ¢. the lead one

L

The legal expert for whom the Duke has sent turns outtobe ..............
a. Portia b. Bassanio ¢. Gratiano

6. Justinian is the codifier of the ..............
a. Egyptian law b. Roman law ¢. American law

I1I.  Attempt only ONE of the following: ( 32 marks)
|. Write at some length on one of the characters you studied in Shakespeare's play 1he
Merchant of Venice.

2. Comment on the following quotation:

In sooth. I know not why [ am so sad:

It wearies me: you say it wearies yoy:

But how | caught it, found it, or came by it,
What stuff 'tis made of, whereof it is born.
I am to learn

Best Wishes!
Dr. Sayed Abdel Hay
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